NOTE 1: THE DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRONIC QPERATOR OR

A LOCKING DEVICE. ALL DOORS W/0

OPERATOR MUST HAVE LOCK(S) THAT
ENGAGE BOTH TRACKS.

NOTE 2: TEST -PERFORMED TO ASTM E330

AND ANSI/DASMA 108-2002

DESIGN PRESSURE +25.9/—28.8. PSF

TEST PRESSURE +38.0/-43.8 PSF
MODEL 3810, 3830, 3650

NOTE 3: THE DESIGN OF THE SUPPORTING

STRUCTURAL ELEMENTS SHALL BE THE

RESPONSIBILITY OF THE PROFESSIONAL OF

RECORD FOR THE BUILDING OR- STRUCTURE
AND IN ACCORDANCE WITH CURRENT R

DOOR_HEIGHT =7'-0"

BUILDING CODES. FOR THE LOADS LISTED

ON THIS DRAWING. GUIDELINES FOR THE

JAMB CONSTRUCTION ARE CONTAINED IN

TECHNICAL DATA SHEETS TDS—156 AND
TDS~161 AT WWW.DASMA.COM

MAX DOOR HEIGHT =12 W/NO SECTION EXCEEDING 21"

HORIZONTAL TRACK SUPPORT

3" TALL U—BAR .
» 20 GA. GALY. STEEL
' /_(4) 1/4™ 5/8" SHEET METAL SCREWS MIN. YIELD STRENGTH : 50KSI
20 GA. HINGE PLATES 4
DPTIONAL DSBV GLASS (INTERNAL) 3
/— (SEE SECTION B—B) j
A 20 GA. END STILE i (@) 1/4" x 374" |
? SELF TAPPING SCREWS T
~ 7 - jae i XY . ~ ;
= 7 14 GA.END HINGE 18 GA. INTERMEDIATE HINGE N — ‘
- - ot N &
} ~ I f . >
HINGE DETAIL A :
i 0y i 3 - v
- = §
- t ‘ - "
% f ig B : ey 2T
: 12% é% . T,; ' L 1—7/8" THICK, 1£ DENSITY i 12 GA. GALY. STEEL TOP BRACKET. EACH .
2 2 2 i EXPANDED POLYSTYRENE FOAM __ “HB~ BRACKET ATTACHED WITH (4) 1/4” x 5/8°
: , INSULATION LAMINATED TO SHEET METAL SCREWS ,
q ) BOTH EXTERIOR AND INTERIOR |
i ; Vi i SKINS. : L,
Tl /4 Bi5
; & 1;% Jﬁ
— aARE . ) < 5o xS ‘ 14 GA. GALY. STEEL ROLLER .(END) HINGE.
S 20 GA. U—BARS 50 K 1 EACH FASTENED TO END STILES W/{4) 1/4" X
¢ c / TWO U-—BARS PER SECTION 5/8" SHEET METAL SCREWS AND (2) 1/4" X
= 7 = . : 9 £ 3/4" SELF TAPPING SCREWS
L, iy .
OPTIONAL OUTSIDE KeYED — -/ A TONGUE AND GROOVE —/ 3" 20 GA. GALY. STEEL U-BAR. (2) PER
LOCK POSITION VA, DOOR WIDTH — 16'—0" SECTION. ATTACHED W/(2) 1/4" X 3/4" SELF
= / TAPPING SCREWS PER HINGE LOCATION.
A "
INSIDE_ELEVATION 27 GA. GALY. STEEL INTERIOR SKIN
27 GA. GALV. STEEL -,—/
BY DOOR INSTALLER (TO SUIT) STOP MOULDING BY DOOR INSTALLER EXTERIOR SKIN : 13 GA. BOTTOM BRACKET ATTACHED WITH (4)
: /" TO PROVIDE AT LEAST 1/4” OVERLAP / 1/4” X 5/8” SHEET METAL SCREWS.
2X6 #2 SPRUCE—PINE—FIR JAMS — I\Q | ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

13 GA. GALV. STEEL FLAG BRACKET.
" ATTACHED TO TRACK W/1/4" TRACK BOLTS
AND RIVETS

EACH FASTENED TO WOOD JAMB WITH (3)
5/18" X 1-5/8" WOOD LAG SCREWS

TRACK CONFIGURATION

2" GALY. STEEL TRACK
TRACK THICKNESS 0.058”

QFENING HEIGHT
T
1

63

/ (4)—2 1/2 X 126GA. GALV. STEEL TRACK
BRACKETS PER SIDE
NOTE: BRACKET LOCATIONS ARE +3"

42

b1
21

NOTE: DOUBLE TRACK
— ) LOW HEADROOM IS
T ‘Di AVAILABLE AS AN OPTION

Professional Engineers seql )
provided only for verification of windioad
construction ‘deto i

<

}

SECTION A—A

12 GA. GALY. STEEL TRACK BRACKET FASTENED
TO WOOD JAMB WiTH ONE 5/16" X 1-5/8"
WOCD LAG SCREW PER BRACKET

2" GALV. STEEL TRACK FASTENED 7O TRACK BRACKETS.
EACH ATTACHED WATH ONE 1/4"X 5/8” BOLT & NUT OR
TWO 1/4” RIVETS:

JAMB CONFIGURATION

SECTION C—C
(PREPARATION OF JAMBS BY OTHERS)

A K%s 000000053 & -
, \\22{0;53310/@,,5@ "f%
o o7 =
59 L
PL%) =%
= &
19 No.23448 I
&

@
8

>
°0

i g g I 18 GA. MIN. GALY. STEEL INTERMEDIATE HINGE
f FASTENED TO INSIDE STILE W/(4) EACH .

7/18" 1.D. ROUND PUSHNUT FASTENER {1 PER ROLLER)
EXCEPT BOTTOM ROLLER, INSTALLED WITH 1/4"-1/2" GAP

27 DIA. SHORT STEM, 10 BALL STEEL ROLLER.

1/4" X 5/8” SHEET METAL SCREWS.

3

3 :

DSB GLASS |\
“— HEAD SCREW

MOLDED INSIDE
LITE RETAINER .

SECTION B-—-B

DoorLink ?Manufactming Co., Inc.

1501 Taney Ave. \ , '[!!]'! t A
| North Kans;as City, Missouri 64116 dOOfL' A

WIND LOAD RATED RESIDENTIAL DOOR
- MODELS: 3610,3630,3650

i

//;" .
g

5% PO | | DRAWN BY: GDR

SIZE DRAWING NO. REV.
: 16'=0"X 70" RS16A—130
APPROVED BY: SCALE: N/A 130 MPH WR |SHEET 1 OF 1




